
��������	��
���
��������
���������������������
����
�� �!"�#��"�$�������

�
��������	
���
	���∗∗∗∗��������	
���
��������������������	
���
������������
������������������

��	������������������������������ 	
��������
��!�����"����# �
����	
���������
�����������	
������������

�

�

�
���������	
������������������������������������������������������������������������������������������������������������������������������������������

�������������������������������������������������������������������������������������������������
������������������������������������������������������������������������ �

�!�"��#$�%��&���'�������������������������������������������������������������������������������������������������������������������������������������������������(��)��)��*��

�

�

����	�

�����������������+,-����.��+/012��.3�����4�5
2�67��3$��89�:!���#;+9�3��<:!���$����������������=>2�$��?�����@A4����8/��7'�?�+����������:��

������BB7=
2���?�:�$/'�;2����C=
2��9�?����������71+��8������3����:��?DE0��F-�62$���7��@A4�8"G����H��8C:�+'��I!�G��<�2�������8	:	J'�

����������2��.����5:IK��8
�$��L7M������������
�������A�:1���.2$�2�8E�N���+	O���P012�����8�:!���#;+�3�7��3$�������Q��7����/12��H

������������.����5:C:4���5:�4���2+��;2�R�$M����S+�$9��6�9M���2�������������T$:U��1+�1�#�������=>�
�$P0M�V��6�M�����0
$��;2����C=
2�����2�

�����������+/012��.�:��;2�T����$
�?�+9���9��W9!��=-2�$9:X�����O�?Y:M�T�,O2�Z.�����W�:!���.��[��[���W�	\]�^����_����S+�$��T�M���2��

���������������W���
'��+`����W�:!���.��+/012��;2�W/�9
�$9a1���89�:!���#;+9�3�7��3$9��\]bc������������6N4$���>��;2����C=
2�����T��3�$U�

�.+�;3�Z8U7�42$��5�$U��2$d�F:	J'�����N/'���+���C�����M2$E��e1���2��N:!�13�Z�H�

����������94��2��.�091�f��=91������������������5�N�����P�M������=
2��2$�M�6+/012���27I'�<:P1�:��Z#;+�3�5:C:4�8���;�2�T�M��>�������g+'�����

]�)c��������������������������$4%!2�h+����P012��@i=���6�M�.�=
���:������+g+��8

i'�@=4���8�:!���.��4��4�Z���:��Z89�;+�3�59i'�5jA91���

������@:'$'��9��+/0912�k)]��Zc)���Z�)���Zk)]k�7����8���H=0:��<:�l�M���8�	O�m	A'��G:-����.��+/012��?2$a1��$�1�<:P1�:��<�$

������������@:'$'����8	>2���i�����S+�$9��89�;+�3�5�$9�7��])������ck)]�������$�1�<:P1�:��<�$=0:����\Qb)��_�������S�j'�2�8��12+'��G:-���

5
2�.�1;��i�����S+�$������0��H�

����������������3��2��.�����+g+��5:IK���4��2��.�01��M�V��<�2�;2�F��-�f��=1����������n+	G��7-����@i=���6�M�.�=
���:�����8�:!���#;+�

����2���2$9dZ�������8�	O�?Y:M�6�,O2�$op������I���+,-�Zq:J��6N������1$����5�$�7��7��;�:1�8�:!���7��3$��5:C:4�T�"'�2�<E:9!�

��$O�5
2�8�:!���#;+�3�?��7>�6�M�H�

���������	
����������	
����������	
����������	
������8�:!���#;+�3�Z5:C:4�Z5:�4�Z7��3$��Z�2��.����

�

�����������������������������������������������������������
∗W	�2��7�A�+1�(.��$[�Wr�N���+	O���P012��ZW��������T��=
$���7r012��Z5�$�7���2���
�Z27���.���:>�Z.��$[�

<C	'�(���st� �s�u��

�

    
    

 [
 D

O
R

: 2
0.

10
01

.1
.1

68
07

62
6.

13
82

.2
.2

.6
.7

 ]
 

 [
 D

ow
nl

oa
de

d 
fr

om
 p

ay
es

hj
ou

rn
al

.ir
 o

n 
20

25
-0

7-
05

 ]
 

                               1 / 6

https://dor.isc.ac/dor/20.1001.1.16807626.1382.2.2.6.7
http://payeshjournal.ir/article-1-845-en.html


�

� ���

�������������	

���
���	���
����
��������
�����
�

��������������������    

�������12���7�M����"=12����7��4�7:!+'����1�.2+�O������P0912������

���������������2���C:v���I��g�����
i=��81�A912�6�$9:1��7�9�4�<:9�Y'

�������������F:	J'�������=>2�$���+>��+g+��wK��8
�$�����$�=A���+`��9�

����������������8	�O�6�M��EM2�������13�F	O����M��P�'�8��9
������F��A9�

��#;+�3�5:C:4�T�"'�2�5�g7����5
���

��������������.��+/012��62$��2��8=9�$��89�:!���#;+9�3��94�W9!�-��������

����������8�Mx�6�M�?��������2��6$a1��12���'��;�
�8��yM2$�������812���

�����������F�7j'�5
2�6��$K����:��;2�5jd2$��62$���4�8O+�=��89=4$-

�7�9�4z��{�������P012�����8�:!���?�E1�e��79'���������:1��|	=i��6�M

��������8J:J�����1$9���94�89�;+�3�.2+�9O���������2$g2�8�+>�������=�271�

�����5
2��7���=>�����+��8�1�8���;�2�H���������'��1��4�5
2��7���7��

����.��+/09912���99E	��Z�I99
+'���99-����6�M�+0994�.��+/09912�

�������������������:������j-�
���+J1��4�<�2�.�7��N:1��=�$09:��6�M�+094

�������������R�N��Z�$:U��2$d�8���;�2�5J'�.�913�89�:!�����9��I��89P1+P}

��712��79�z]�H{��F�+:1\�c�^�_���5":"-�����[���2��W�����v2�<:�}

����������������;+-�<�2���5
2�#;+�3�<�$9'��79��#+�2$9��89�:!���#;+9�3

��������������5
2�89�;+�3�6�9M��;+9-�$��9
�;2�$=09:��W
9��"1�62�2�z��H{

�����������������8E�N��6�9M��7E0912���94�79M��W9��.�091��7I=9��?�":9"J'

�������������<=�$U�7�1���8��M�?�������/12�5�g��;B�8U���3�7�912+'�89�1

���6���:9���9li���'�����������:����2�2����:i0'�Z���:��8E�N:������I��Z

�7�99���1���99/�2�899�:!���.��+/09912�����2��H��799/��899���;�2�2%99!

�������6�M�#������8��:=
��5�g�8�:!����+	O����e��79'�6�9M�#��

7
��8��$a1����6��$K�8�:!���6�M�?�����#;+�3zbH{�

�����������+:����2�2�Z8�3��4��M�4����y�=���M���P012��8	I��#;+�3�����

�9
���������������~D�2��4�W!�-����Z59
2�6��3+91�$9�2$�����59���"����8=�

�����������������g+'���+����2+9�M�.3�5:9C:4��+j9�����89�;+�3�6�9M����1$9�

�����������5
2���+9��8E9�N����$9U�7:'�9
2���<:!+�A9�zk�H{���8	4��+`���

���������������8�+�O�8E�N���=���#;+�3�8	I�����1$���4�5CU�.2+'�89�

����������1�2$g2�q:J���+`����8��M��P�'���?DE0���+g��F:!�������+��8

�������������8�3��4��7O����2��62����1$��<:�}�62$g2�f��=1��4�5
2�89��7�

�������������2�2���8=�27���?DE0��F-�62$���=���<�2�.D:
J=!2����9�

�������+�1��7M�0��.2+'�8��81�����?��79>z��H{����L7M�����I!�G��<�2

��������������P012�����8�:!���#;+�3�7��3$�����2��.����5:I9K��89
�$�

���
����.2$�2�8E�N���+	O������Q7����/12��H�

�����	
��
���
������	
��
���
������	
��
���
������	
��
���
��

�������������Z6;����4��������8�:!�����������2���9
�.��+/0912���:9	4�����

�����6$
����8I�
�6�M7-2��Z8�:!���.��4��4�Z8�	O�?Y:M�6�,9O2

�����8�;+�3�6��1�=
���:��6�M��1�i��=94��������=A�2��@i=���81�����

�����������W=�27���?��79>���8E9�N���+9	O���P0912���9�����.2$�2�81�����

���I��g�����71�2��W��F:E0'�2���M�V��<�2�H�������+J1��4�<�2�����g+'���

�����������7��3$�����2��.����5:�4����S+�$��80M�V��6�M7-2��n�i=912

��������������:	4�Z�+��6����$
�?�+���9����89!��=-2$:X�89�:!���#;+9�3

��������������2$d�8
�$����+��Z�I��g�����+9g+���M�V9����+9��6�M79-2�

�7�=�$9U�H�����������
2�$��Z#;+�3�7��3$��5:9C:4��9��S�j9'�2�����f��=1��

�����6���$��8'��7"���I!�G��Q������1+�1�y/-�Z$C1��]Q����j
�J��$C1�

7��$UH�

���������������5:�4�����7��~$G����2+��;2�R��$M����S+�$��T�M���2������

����;2����C=99
2��99��899�:!���#;+99�3�7��3$99�����2��.����5:99C:4

�������7��6��3�w�g��=>�
�$P0M�V��6�M�����09
$��H��W
�$��5�g

������?�OD`2�6��3�$U��2$�2�W9�2��������8�	O�?Y:M�T�,O2�?2$a1�;2�N:1

��������������891����?�j9o�#���;2�.3�89������<:9:I'�T2$9��\��6�C!3�@�$K

��j1�$4�_�7��$U����C=
2\�c)Q��α����0
$��F4��H_�

�+��$�;���2+��F�����M�����0
$������(�

�|9!2�������������#;+�3�7��3$�����2��.����5:�4����S+�$9������09
$��

�;2�;�:991���+99��6�99M���2��.3�m99
+'��994�899�:!���#;+99�3���2�2�

7��$U�%>2�8E�N���7E012�H�

n������������R�4�F��
����?�1�E�2�Z81�A12�w��������S+�$������0
$��

��������������5�������`+�$��6�M7-2��;2�;�:1���+9��6�9M���2���94�89�;+�3

7�H�

������������������+�����8�:!���.��+/0912��?2$9a1��9��S+�$9������09
$��

�������$��F�=0��8�:!���#;+�3�7��3$��5:C:4��������2��i���4��i��

�����������������G:-��
�@!�d���������i��Z6�$9��6�9M�W9UV����9��S+�$9�

���������7:'�
2�����0���S�j'�2�8��12+'���8�;+�3�5�$�7��Z8�	O�m	A'

����������:9"����9
2�$9���94k����+���7��$U�y:a�'�?$E:!�62��g���

�������������f�2��W���;�2���e��7'�T�M�#���W12�2$�����S+�$���+9
��9i�

�+��W�;+�3�T�M��i����H�

�����Ig2$9���9��$P09M�V�������������@i=���8�;+�3�6�M�.�=
���:���9���

���������������;2�8���
'��+`����$94%!2�h+9����P0912���9���=A9�2��]Q���;2�$C1�

�����6;����994������N99:1���899�:!�����������2���99
�.��+/09912�

 [
 D

O
R

: 2
0.

10
01

.1
.1

68
07

62
6.

13
82

.2
.2

.6
.7

 ]
 

 [
 D

ow
nl

oa
de

d 
fr

om
 p

ay
es

hj
ou

rn
al

.ir
 o

n 
20

25
-0

7-
05

 ]
 

                               2 / 6

https://dor.isc.ac/dor/20.1001.1.16807626.1382.2.2.6.7
http://payeshjournal.ir/article-1-845-en.html


�

� ���


��� �
	

!��

"#$%�

















&&&








































































'�� �
�(#��
�)#*
�
����� �
���+��
!	 ��,
�#��
�

�������7�M��&
����+4%������0
$������4��$4�5
2+>���H���+�/����

]bc�����+999���7999��$999��F999��4��+999`��999���9994�����0999
$���

\^�)Q���	
��	���
��_��99��Z�6��99�3��2N99�2��$991�6$99:U��4��99�

�����������������.+�;3�Z8U7�42$��Z6N4$���>�9��;2����C=9
2��9���������

5�$U��2$d�F:	J'�����N/'���+���C�����M2$E��e1���2��N:!�13�H�

�

���������������������������������

��2���M�V99��6�M799-2��799����<�$=099:���M�V99��<99�2��������

�����6;����4������.��+/0912�\��]���Z$C1���)bc�7�����_��<�$=�4��

���79���������8�:!�����2���
�.��+/012��2�\]^����Z$C1�]�)]]�7�����_

����791�2��W9��F:E09'�H�#;+�3���2�2�;2��%��%>2�T�M���3���
2�$�

�����������������2���A�:1����8E�N���7E012��8�:!���Q��������27I'�

�������8�:!�����2���
����8!+jd�6+/012��^����$C1�\�QQ�7����_������

������Z89�:!���������9
]]�����$9C1�\�QQ�7�����_����������6;����4����

��k����$9C1�\k)ck��79�����_�5
2���+��H�������8!+jd�5jA1�<:�l�M

�w99G"��.�99�M�.��+/09912���99��899�:!�����������2���99
�w99`�"�

�����$9�2$��8	:
9J'�����������@:'$'����8�:!���.��+/012��F4����5jA91���

]])Q���]�)Q�.��+/09912���99��5jA991�6;����994���������N99:1���

�����w9G"��.�9�Mc)Q�������.��+/012��F4����5jA1�����8�:!��b���7����

���59
2���+9��H�����������8�:!�����������2���
�w`�"�����6���$9��5jA91

����������$�2$��wG"��.��M�.��+/012�����5jA1�6;����4�wG"������$C�

Qb)Q�������8�:!���.��+/012��F4��9��5jA91���Q])Q5
2��H�<:�l�M

�����W99�:!�����������2�w99`�"�����899g2$>2�.��+/09912��5jA991

��������������8	:
J'�w9`�"��.�9�M��9��6;����94��@:'$'Q�)Q��ZQQc)Q�Z

QQ�)Q������������8�:!���.��+/0912��F94��9��5jA91���QQ])Q��ZQQ])Q����

QQb)Q��59
2��H�����������:��.+�;3����8!+jd�7����<�$=0:����D9O��9�

���.+99�;3�����7�99�4�54$99��.��+/09912���99���	I=99��T;����99[

�����+�$�����Q\���c�Z$C1�b)c�7�����_5
2���+�H�

�����������<:P1�:���4��2��.�01��M�V9��<9�2�f��=91�������T+/012���27I'

�8999999�;+�3�6�M712�����=999999
2�R999999���999999���2$999999�M�

\k�)k�����Z]�)c��_������.��4��4�Z���:��Z8�;+�3�5i'�5jA91�

��8�:!��\���������=���$��
���6�+!+��2��ZWM�P0���;3��+	O�Z�����Z��=
$�

����=A9�2��6�9M�_���������+9g+��8
9
i'�@=94��\��<:'B���8
����_���

�����P012��@i=���6�9M�.�=9
���:�������@:'$'����+/012����$4%!2�h+����

�$9�2$�k)]��Zc)���Z�)�Zk)]k��59
2��H������8�;+�3�6�M�y	:9��<:9�l�M�

\�b)kQ�7����_��������$��5�2������:
��=i'�Z\Q�)�]�7����_��7�D
2�Z

��+=4��$99�\Q�)�Q799�����_�799M��2��\b)c799�����_�@:'$99'��99�

��������+999g+��8999�;+�3�R999�4�F��999
��7999����<�$=0999:�

�@i=���8�;+�3�6�M�.�=
���:�71�2��W��F:E0'�2��H�

���������������?2$a1����S�j9'�2����$9K�-��9I!�G��T�9M��=9����<:9�l�M�����

������������.3�$P1�:��8�:!���#;+�3�5:9C:4���9:�;���89�:!���.��+/0912�

����������������$��8�	O�m	A'��G:9-����.��+/0912��?2$9a1�<:9���94�59
2

�.��99:�`2��99��.��+/09912��8	:
99J'�w99G"��@A99-ck�Z799����

������������2���+9g��6��9�3��2��89�I��LD=9>2\Q�)Q���H_���C��.+9�;3

����������.��+/012��?2$�1�<:P1�:��8�	O�m	A'��G:-�����4��2��.�01

��������������5
2�.2;����94�?2$9�1�<:9P1�:��;2�$9=���89�:!�����2���9
�H���

�n�i=99912��999��S+�$999��<:999P1�:��<�$=0999:��Z$999P���?��j999O�

��W9999�:!���#;+9999�3������L279999M2���9999
2�$9999��.2���:9999��

\s )�����Z�)���_�<�$9999=�[��9999��S+�$9999��<:9999P1�:���

��W99�;+�3������T27=99�2����.��+/09912���99������L2799M2��99�2�2�

\  )s����Z� )���_5
2\���������7g�H_��

����������.��+/012��?2$a1���:I��L2$J12����$�1�<:9P1�:��<�$=09:������

�����8�	O�m	A'��G:9-���+9����\�])Q�����Z�])���_�5�$�7��

899�;+�3\kc)Q����Zck)]��_���W99	>2���99i���99��S+�$99�

��+9�H��������������m	A'��G:-�����4�5
2�.3�;2�84�-��C9��.+9�;3�f��=91

������������8	>2���i�����.��+/012��?2$a1�?2$�1�<:P1�:��<:��8�	O

�������2��+g��6���3�LD=>2�8-2$g\QQ�)Q���H_��<:P1�:���A��"�

�����G:-���+9����89�:!���.��+/0912��?2$9�1�N:1�#;+�3�5�$�7���

��������������8	>2����8-2$g��i��.��+/012��?2$9a1�<:9���94��2��.�091

�������������2���+9g��6�2��89�I��6��9�3��9G�2�\Q�)Q���H_���������DO��9�

�����������?2$a1�<:P1�:���A��"��7:'�
2�����0����S�j'�2�89��12+'��G:9-

������������6�M��i��?2$�1�<:P1�:��<:���4�5
2�.3�$9P1�:��.��+/0912�

����99�3�LD=99>2�899-2$g���.�991;����2���+99g��6�2��899�I��6��

\QQb)Q��\�_���������7g]�H_�

 [
 D

O
R

: 2
0.

10
01

.1
.1

68
07

62
6.

13
82

.2
.2

.6
.7

 ]
 

 [
 D

ow
nl

oa
de

d 
fr

om
 p

ay
es

hj
ou

rn
al

.ir
 o

n 
20

25
-0

7-
05

 ]
 

                               3 / 6

https://dor.isc.ac/dor/20.1001.1.16807626.1382.2.2.6.7
http://payeshjournal.ir/article-1-845-en.html


�

� ���

�������������	

���
���	���
����
��������
�����
�

�� �!"�#$�%&'�������	(�� )�� ���*	+�����,)-�����.��/�� �	0��1������$�2	3��	��2,��!��$�2,���	��45�������$����6,7)8�

�*	+����	8����� $����$�9�
8 ��$��"7)�:�;,�,���4�!���<�=8�

��:I��L2$J12� <:P1�:�� �27Io� �

tt)s� u�)�� �u*� ��2��m	A'�W
���@!�G�������=
2�

  )s� � )�� �ut� 7M��W����2�2�.��+/012�����2������L27M2�W�;+�3������T27=�2������=
2�

s )�� �)�� �u�� 7�[�W��n�i=12�W�:!���#;+�3������L27M2���
2�$��2��.2���:����=
2�

**)s� �t)�� ��*� �7��~$G���-�j���$=�[�����2�2�W��12+'���=
2��2��2��W�:!���#;+�3�����

t�)s� u�)�� ��*� 7M��W����+>;���.��+/012�����W�:!���������+`������=
2�

t�)s� ��)�� �u*� 7M��W��.�01��dDO�.��+/012��?B2p
����W�+Pi
��������=
2�

�

�

�� �!"�#$�%>'<�=8�������	(�7��?,����� )�� ����,)-�����.��/�� �	0��1������$�2	3��	��6,7)8��9�
8 ���,���)8�$��"7)�:�;,�,���4�!���

 )*	������@A��$����7�4#�B���4�(��%�4��C�������@A�� ��� $����$�

w�g� �M�+�:�� .�1;� ��C`2� W-2$g� W	>2��

�L2$J12

��:I��

<:P1�:�� �L2$J12

��:I��

<:P1�:�� �L2$J12

��:I��

<:P1�:�� �L2$J12

��:I��

<:P1�:�� �L2$J12

��:I��

<:P1�:�� �L2$J12

��:I��

�<:P1�:�

�

� )s� �u)��  u)s� ��)�� ��)s� ��)�� �s)s� s�)��  �)s� t*)�� ��)s� ��)�� W�	O�m	A'�

� )s�  u)��  �)s�  �)�� �*)s�  �)�� ��)s�  u)�� �t)s� ��)�� �t)s� t�)�� W�;+�3�5�$�7��

 t)s�  *)�� *�)s� t*)�� *�)s� su)�� ��)s�  �)��  �)s� u�)�� *�)s� *�)�� ������S�j'�2�W9��12+'

����0��

�

��������
�������������
�������������
�������������
����������������������

��������5
2�6$:U�����2��<�$'�n+	G��89�:!���#;+9�3������H�����
������

�����������������y=A:
��94�89��M��7E0912�������8E9�N��6�9M��7E0912��$9>3

���#;+9�3������������6$:U�����:!�2��	:
��8E:�:	4���$9/'�Z791�2���!�9
�

5
2�H���������;2�81�=
���:�������8M�P1�����y=A:
����8E�N��#;+�3

�����������d+������2N9������2��89��>�?2��a=912�y9	I�������62$��2��89��M�5:9I

������������$P���6�M��2��;2���13����8��:=
���4��;�9
�89��yM2$9��6$9:U���

�����5A9:1�$9�%��.�9E�2z^�H{������������M�2��.����F��I'�F
9-�����f��=91

�������������.�P=>+�3��12��T�M��5jA1����.2+'�8��2��8�;+�3���a1�7��3$9�

�������������������N:1���712���$4���91�5j9o�89�:I����9
�����94�81��+/0912���9�

�����912�Z89!+jd�.��+/0912��������$M�.�U7���=�$�%�����8g2$>2���8�2$


���2��.�01���
�H�������Z6���$��Z8	:
J'�5�2�Z�"'�2�6�M��$1�<:�l�M

�������������<:��F��I'����$E	�O�$P1�:��wd2�����8	:
J'��%9U���8`�$09�

����������8�;+�3���a1�81����8�3��4���8�	O�?Y:M�6�,O2���.��+/012�

�59
2z��H{�������������;2�8E����=
2����+/0912��5jA91��>�9��W9�$`�;2

��<�$=����������|	=i��6�M�+04�����5
2�5:C:4�8���;�2�6�M��>��

��������?Y:M�+,O�$M�62;2����+/012��R��;2�$=�4�<:��62���9�2��62�2�

�������������E�$9�3���2��91�4����89�	Ok)�c�����5
2���+��#�DP�9������H���

����������������
����8E9�N����$9U�����>�9��<9�2�.2$9�2^��^k���F4����

����+094b)���������8=!���6�M���P012�������])����5
2���+���H<�2��yd��

�������������7-���
�.��M����8�D
2��2;3���P012��8E�N���i����bQ�

����������������?Y:M�6�,O2����.��+/012��F4�5jA91����$9�2�<9�2��94�59
2

��������5
2��2%U�$:oY'��+04�qG
������89�	Ozc�H{����M�V��<�2�f��=1

���������������:=
����+/012���27I'���:I��L2$J12���<:P1�:���94��2��.�091

���������8�;+�3�6�M712������=
2�R������2$9�M�@:'$'�]�)c�Z^])����

k�)k���c�)�5
2�H�

�������������'����8�;+�3�.�=
���:��8��4��27I'��+g��$P���L$`�;2�����

������������+/012��#$�%��62$���;B�m�2$��;2�8E��;�:1��+��6�9M�W9UV��

�59
2�H���������6���M2��712+'�8���1B�
�#$�%�����8�;+�3�5i'�5jA1

����������������8"G���#$9�%��6�9M��j9�g�;2�8,9I��W9���;�2�T2$9��8j9
���

�912���79����+/0�H������������+9�/��;2��>�9��<9�2��:9-�;2�c����5i'�

��������������Z�M�V����+9��@i=9���6�9M�.�=9
���:������+9g+��89�;+�3

�������$42��+
��?$,-�.�=9
���:�\��_����b����8�;+�3�5i'�\^)

]b��79�����_��������������$U;�$:���T�M�.�=9
���:������2��j9'�]k]��5i'�

�899�;+�3\�)�]799�����_��99��$99:'�y=99CM�627�99���]bQ�599i'�

�8�;+�3\])�]�7����_71�2���2$d�67I��6�M��������H�

 [
 D

O
R

: 2
0.

10
01

.1
.1

68
07

62
6.

13
82

.2
.2

.6
.7

 ]
 

 [
 D

ow
nl

oa
de

d 
fr

om
 p

ay
es

hj
ou

rn
al

.ir
 o

n 
20

25
-0

7-
05

 ]
 

                               4 / 6

https://dor.isc.ac/dor/20.1001.1.16807626.1382.2.2.6.7
http://payeshjournal.ir/article-1-845-en.html


�

� ���


��� �
	

!��

"#$%�

















&&&








































































'�� �
�(#��
�)#*
�
����� �
���+��
!	 ��,
�#��
�

�����������6�M�+04����8E�N��6+/012�����89�;+�3�59i'�5jA91�����

���������<:9��62���9�2��62�2��|	=9i�b)���������$M�62;2����8�;+�3�59i'�

������2��1�4����+/0912�bcH)�����5
2�$:�=��#�DP������W�;+�3�5i'�H

���������8	:
9J'���9
����.2$9�2���^^�^�������8�;+�3�6�M�5i'��279I'�

�������+094�����+9g+�^]Q�c����������F4��27I'���
�<:�M�����94���+9��

���8E�N��.��+/012�bQ��]���������27I'�<�2�;2�����+��$C1���c^c��$C1�

����������������<�2$�����Z712���+��F:
9J'��9���+�09��89=!���6�9M���P0912����

�������������
����8=!���6�M���P012�����+/012�����8�;+�3�5i'�5jA1

^^�^��$99�2$��])]���899=!���8E99�N���+99	O�6�99M���P09912�������

��$:X���89=!�)�������+��@i=���6�M�.�=9
���:�����5jA91�<9�2���

�����$9�2$���M�V9�k)]��59
2�zc�H{�����6�$:1�8�	O�?Y:M$:X�.��94��4

�����?�����Z�12��;2�7������7�M��W��F:E0'�2���M���P012��81�j:=09�

��������������$���8M�P012��m:J�����?��7>��9K$O�59�g��;B��N9:P12��

��7�����7�9��H�������M���P012���7�O�?DE0���	�g�;2�<:�l�M���+j�4�

������������5
2�8C:4���89�4�$9a1�;2�?��$091���n�=94�H���8�	O�6�M�n�=4

�����������
����.2$�2�8M�P012��6�M��1�i��=4�����+g+���^Q���62;2����

���+/012��$M�b������������2����5jA1�<�2�Z��+��7	g��kQ��������"�$�3����Z

]QQ�����:
3��������Q7
��8��7	g�z�Q�H{�F��-�f��=1��j`�$�

��������.��+/0912��5jA91��M�V9��<9�2�;2������.��4��4����89�:!����)�����

��8
99
i'�6�99M�n�=994�5jA991\<:99'B���899
����_�����+99g+�

�+/012������M�V����+��6�M�.�=
���:�k)]k7��$U����3$��H�

���6�99M�5:99!�I����y:99M�C��yA99/'����899�;+�3�6�99M�y	:99������

��������������W12�2$���$���[�Z5A:1�$A:��8�D4�q�$09'��9���94�62��7:9l:�

71�2�H����;+�3���[�F��
���1+U�<�2������5�g��;B�8��12+'����'��1�W�

�N99:1�6$99:U����#N99:P12�����99E	��Z7�=A99M�2�2��2��@99!�G���99�2�2

����������71���W��8d���<Mx����81B+`�8'7��62$��.��$:oY'����+�$9op��

z���H{���M�V99����+99��@i=99���899�;+�3�6�99M�.�=99
���:����

��������������6�M�y	:������+g+��89�;+�3�R9�4�F��9
��79����<�$=09:�

�899�;+�3\�b)kQ799�����_=99i'��$99��599�2���99����:99
��\Q�)�]�

�79����_���79M��2��\b)c7�����_�2��W��F:E0'�H�$�42����<:�l�M

������������Fd27-��4��+���+g+���1��2����P=
��������R���27I'��M��1�i��=4

��������������Ej�����.��+/012����7:'�
2����C=
2�59�g�.3���P=9
��R9�

�+��F���51$=��2�H�

����������<�$=0:���4��+��.3�;2�84�-��M�V��<9�2�f��=91����������812�2$��

���������8M�PJj��#�2NU����S+�$��e��7'�6�M�#���79����Q^�$C1�

\c)b���79����_����������.��+/012��6$9:U����.2N9:��79����<�$=09:��Z

��������������812�2$��<�$=0:����89E:�:	4����9�1�#����9��S+�$9��89�:!��

�����������������8M�C��6�M�.+�;3����S+�$9��89���;�2�6�9M�#���;2����C=9
2

5
2�8j=4H�

���:'�
2��+,-�?�O�
�<:P1�:������������8�;+�3�6�M��i�����7Q])]�

��������:9I��L2$9J12��Qk)����5
2���+9���H����Z8""J�����0��80M�V����

������������6�,O2���I���+,-���+�����2��8	>2���i��.2��:=9
��?2$9a1

����������4���2��W��.�:��89�	O�?Y:9M��$C1���k)��7��������.2��:=
��;2�

��������������6�M�5�N������.�0�2�7:'�
2�712��=�2�����v2�8	>2��6�9M��=9��

���1�54$���12;���7��4�8�Hbk���$C1�\�)]k�7�����_���2��7:'�
2��+,-

������������������I�$:X���|:IK�8�;+�3�6�M��i���912;���6�9M�5�N9�����

���$C1�\k)bk7�����_71�+�1�8���;�2�8��4�1���m
+=�z���H{�

�����������8E�N:��?����I����/12�5�g�.2���:9��59��C4��+
9>��������

�Q��$99C1�\�)bb799�����_��2799I'��M�V99����+99��.��+/09912��;2

����:9�����������������8��4�2���M�V����+9��@i=9���6�9M�.�=9
���:�����.2

�Qc����$9C1�\k)b���79�����_��������27I'����=A12��8��4���=jA91�b���$C1��

\�)�Q�7�����_��8�:!���6�M�m:J��8M����?�1�E�2�;2�.��+/012��;2

���Z89K2��1cQ��$9C1�\�)�^7�����_�m"����8K2����=jA1k�$C1�\�)]�

7����_71�+��8K2���D��4�H�

���-�f��=91�����������+g+��5:IK���4��2��.�01��M�V��<9�2�;2�F9�

����.2$�2�8E�N���+	O���P012��@i=���6�M�.�=
���:������2��.���

�������������#;+�3�7��3$��5:C:4�T�"'�2�<E:9!�Z�2��2$9d�n+9	G��79-���

�����������������M��g+'���q:J��6N9������1$9����5�$9�7��7�9�;�:1�89�:!��

�������������5
2�.3�81�A912���9I�2��9���+
9>��9���j91�g�H���5
2��7���7��

2�����������������'�8E�N��.��+/012��Z8�;+�3�6�M791k����2+��7����

�����������7-������71+��8���2�2��5jJ����ck������J��R����2+��7����

�$99:U�899��?�+99���+�A99��51799�;����R99�N��<:99��899!+�I��H

��������������4�7�=AM�.2��=
2�<�2��j!�X�Z89�:!���6�9M�m:9J�����<:9�l�M

��������71�2��8�:!���?DE0��F-����F���'�+/012��6�g��9��H���=
2�$�42

��������������$U����a1��1DIC���+/012���4�W!�-����7�4�89��5jJ9��?�9d�2

5
�2�?����z�b�H{�

����899�:!���7:'�99
2�5�$99�42��994�<99�2�y99X��W99	O�<:99�l�M�����

������������Z712���+�1�54$��8���;�2���e��7'�#���8'��7"��6�9M���9U��4

��������������2$�2�8��:�;�2���e��7'�8=�
�6�M�#���;2����C=
2�$9��<E:9!

���791;���89��H����0:��2%9!���������$::�'�L7M����8��M���U��4��4���$U�8����

 [
 D

O
R

: 2
0.

10
01

.1
.1

68
07

62
6.

13
82

.2
.2

.6
.7

 ]
 

 [
 D

ow
nl

oa
de

d 
fr

om
 p

ay
es

hj
ou

rn
al

.ir
 o

n 
20

25
-0

7-
05

 ]
 

                               5 / 6

https://dor.isc.ac/dor/20.1001.1.16807626.1382.2.2.6.7
http://payeshjournal.ir/article-1-845-en.html


�

� ���

�������������	

���
���	���
����
��������
�����
�

������������������#;+�3�<�+1�6�M�#����9��7:'�9
2�$=09:��8���9�3���#$9P1

�����������$U��2NU$��89�:!���6�9M�?��9���89���;�2�H����N:P12�T�"'�2�5�g

����������������6�M���$O����$op������I���+,9-�62$9��89�	O�?Y:9M�6�,9O2

�8�;+�3�?��7>���������;2����7���7:0�712�8j
����?27:��'�81�����

7:'�
2�������������=A����+J1����Z71�2��T$=����$E	�O�����+��$'���I���4�6

����+9��8912��7d�H��������Zq:J��6N������1$����5�$�7������g+'��$>���

����������������+g+��#;+9�3�6�9M����1$9���:9d����F9��4�6$9P1;��\���6$a1

8�:!���_����������T�"'�2���
2�Z���1$��T2Ng2�|IK���?+d�S�"1�<::I'��

�+��W��n+AJ��8�;+�3�5:C:4�H�

�

���������������������

��������������
������������
����
������������	�����

�	��� ���������

!
��
� �"
��#�$�� �����%%&��

D'����������������+	O� ��� �:"J'� �� 6$:U���� 6�M�#��� Z.�7�$�� 6N�NO

�Z.2$�'�Z<:�2��?2��0=12Z��2���}�Z8E�N���^��

E'���������g$'�Z?$����<1�4�Z7�+9���F�+:91�(��Z<AJ�7:
�6�+�J�

�������9�3����<�+91�6�9M�#���������Z��2���}�Z�=A�2���+	O���8E�N��#;+

������������������Z8E9�N��#;+9�3���.�9����Z59�27���?�2;��#;+9�3�$9=��

�Z.2$�'�Z?$/M��i��8�	O��i��6��E�M��^���
��� ���'� $��� (�	���� ���� )�
�	�
����� ��
������


�����
��������
�
�����#�*�����	��
���+�'�����
������

������
��	,���	��-� ��
��� ��
�����.//.0�12#�13&�&.��

F'��������������O+�/��Z8E�N����$9U����5:�$9'���y:9	I'�Z�2$
91�$9jM��

��������������$U����5:�$'���y:	I'�6�+04����:�
�����79���9�2�2�?B�9"�

���?��799>���8E99�N���+99	O���P09912��899�+�O�m99�2���Z8E99�N�

8=�27����Z.2$�'�Z.2$�2�81�������^b�

G'������������N������1$��8
�
2�y:M�C�����+�2�Z79�J��.�9U�2;���j9O�6

�Z.2$�'�Z��+
�?2��0=12�Z��2���}�Z8
����^���

H'������������Z8E�N�����6$:U2$��Z�K�7�J����2;��+'$9��Z�9K��8��9K�

Z.2$�'�Z.2$�2�8E�N���+	O���P012��?2��0=12�Z��2���}��^]�

I'����������8!�O�#;+�3��I
+'�6N������1$����a1�Z8	O�$:�v�+��89"'�)�

�������������Z8!�O�#;+9�3���6N9������1$9�����M�V9��Z��P0912���^]Z�Z�

�]�c�

J'�Z�99K�7:�-�67:099�g�Z.�7�$99��6N99�NO�Z�99K$:	O�671$99��

������������Z��2���}�Z.2$�2�8�D
2�6�+��g����5�D9
�Z$9d���891�/��B

�Z.2$�'�Z|A:1+���^^��

KL'�����������#;+�3�6�M��P�'���?DE0��$��8	:	J'�Z$j42�8	O�6��:9


�����������Z8!�O�#;+�3����6N������1$�����M�V��Z�+04����8!�O��^�Z

��Zb���c��

KK'����.�:9����������6�M��+:��5�$�7��Z7�J���7"���j:E��Z<�7!2���A-

�����������Z.2$�'�Z8=!���5�$�7��#;+�3�N4$��Z�+
���}�Z#;+�3����+91

��^c��

KD'��6��:=99
��#;+99�3�5:99C:4�899
�$��Z899	O7�J��899""J�

�Z8E�N�������27��#;+�3�Z8	>2��6�M��=����^]Z�s�Z�����

KE'�������g$'�Z.�'�1�g�8EA1D:�
2�Z���l���8!+��(�1�G	
�7�-2�8

������������?2��0=12�Z��2���}�Z8E�N���+	O����e��7'�6�9M�#���Z2$9=:�

Z.2$�'�Z.��:4��^���

�

 [
 D

O
R

: 2
0.

10
01

.1
.1

68
07

62
6.

13
82

.2
.2

.6
.7

 ]
 

 [
 D

ow
nl

oa
de

d 
fr

om
 p

ay
es

hj
ou

rn
al

.ir
 o

n 
20

25
-0

7-
05

 ]
 

Powered by TCPDF (www.tcpdf.org)

                               6 / 6

https://dor.isc.ac/dor/20.1001.1.16807626.1382.2.2.6.7
http://payeshjournal.ir/article-1-845-en.html
http://www.tcpdf.org

